scratch/run10102049.12btowW.hist.root, page=1, Sun Apr 12 07:51:37 2009

| L2 COMPUTE time per input event | Entries 26708 rate of COMPUTE Entries 26708 | total events. 0=anylnput 10=anyAccept 11-normalAccept 12=rdAcGept Entries 55638
Mean 17.19 Mean 52.43 Mean 1154
'2 E RMS 10.48 RMS 1817 MS 1185
§)OO T Underflow 0 Underflow 0 - inderflow 0
s F Overflow 9 Overflow 0 verflow 0
5000 |- -dne e TS By
4000 [ -4 e e e e
T R ETET EEEPE IS I I A S N SR S .
O N | B T T TP e e S S A v
1000 |- :
Y ! P A P P TP TP P P 0 AP I TP T TP TP T TP TP ; : i
0 20 40 60 80 100 120 140 160 180 0 200 400 600 800 10001200 1400 1600 1800 2000 14 16 18
x: COMPUTE time (CPU kTics) x: time in this run (seconds) 6=staleData
L2 DECISION time per input event | Entries 1607 W Btow delTime (decision-compute) | Entries 277 W Btow-compute: # btow towers w/ energy /event Entries 26708
00 F= - . . . . , Mean 2434 . . . . . Mean 2615 " _ _ . Mean 9635
= - RMS 1522 1b--e--- LR T e TEEEEE ~{RMS 6 c RMS 8.669
o [ . - H H H H H >
s [ + |underfiow 0 | . . . . :|Underflow 0 3 5 Underflow 0
5500 - Hoverfiow 0 - . . +[overtiow 275 10 overflow 0
a00f : :
: : 1 102
300
200
10
100 : : N .
o O PR U P T e il Vas iz I 1L T
0 15 20 25 30 35 0 50 100 150 200 250 300 0O 10 20 30 40 50 60 70 80 90 100
x: DECISION time (CPU kTics) kTicks x: # BTOW towers
L2 COMP+DECI time per input event | Entries 1607 rate of ACCEPT Entries 305 W-BTOW-accepted: acc seed tower ET>5.00 GeV Entries 277
M 20.61 M 53.37 M 2315
w250 = ean = . . . . . . . . lean ean
= L RMS 9872 e L0 S RMS 17.85 H RMS 1429
9] L = : : : : : : : L
H L Underflow 0 i} Underflow 0 | Underflow 0
- L [
>0k _ |overflow o soofll G Overﬂow 0 [ Overflow o
150 - Y| T S S [
100 o B S A
50 - | | S A
OC 20 40 60 80 100 120 140 160 180 00 200 400 600 800 10001200 1400 1600 1800 2000 0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

x: COMP+DECIS time (CPU kTics) X: time in this run (seconds) BTOW softID



scratch/run10102049.12btowW.hist.root, page=2, Sun Apr 12 07:51:37 2009

W Btow-accepted: seeds |

10

.............................

................................

Entries 277

Sun Apr 12 07:51:37 2009

Seed ET (GeV)

Mean 12.28

RMS 4.441

Integral 277
60 70

| W Btow-accepted: clusters | Entries 277
Mean 15.79
RMS  3.955
107 — Jintegral 277
10
1
Cluster ET ET(GeV)
W Btow-accepted: cluster shape
Entries 277
[ .|Mean  78.23 | i
_______ RMS 19.37 |
Integral 277
20 40 60 80 100

100*Seed Et/Cluster Et




scratch/run10102049.12btowW.hist.root, page=3, Sun Apr 12 07:51:37 2009

W Btow accepted, seed tower Et>5.00 GeV Entries 277

I
N
o

l 3

2.5

y: phi bin ~ TCP secto
(00] @)
o o
| a
| |
N

o))

=)
|
|

&

e

S R e [

O||||ill||i||||i||||i||||i||||i||||i|||| O
b 5 10 15 20 25 30 35 40

eta bin [-1,+1]




scratch/run10102049.12btowW.hist.root, page=4, Sun Apr 12 07:51:37 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |
3

25

2

15

1

0.5

0

Integral

19

20
BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

3

25

2

15

1

0.5

0

Integral

18

BTOW softiD

3

25

2

15

1

0.5

= s s ; s s s .| Integral

10

BTOW softiD

3

25

2

15

1

0.5

Integral

BTOW softID




scratch/run10102049.12btowW.hist.root, page=5, Sun Apr 12 07:51:37 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |
3

25

2

15

1

0.5

0

= s s s s s s ~_|Integral

14

100
BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

3

25

2

15

1

0.5

0

Integral

11

BTOW softiD

3

25

2

15

1

0.5

0

= s s ; s s s .| Integral

11

BTOW softiD

3

25

2

15

1

0.5

= f é s ; s g | | Integral

i i 1 ] ] 1 ] i
1420 1440 460 T480 500 1520 1540 560 550 T60

BTOW softID




scratch/run10102049.12btowW.hist.root, page=6, Sun Apr 12 07:51:37 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |
3

25

2

15

1

0.5

0

E ; s s s s s .| Integral

10

.................................................................

* T8
BTOW softiD

3

25

2

15

1

0.5

0

E s s s s s s . |Integral

0
BTOW softiD

3

25

2

15

1

0.5

0

= s s ; s s s .| Integral

12

.........................................................

] j j ] ] ] i ]
7020 7040 iy piviy TO0 7120 7140 T60 780

BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

3

25

2

15

1

0.5

BTOW softID

:—...1. ---------------------------------------------
=3 W SRR VO U VU S O | - . S
— ZZIZO 22!10 2260 ZZéO 3(‘)0 Z3I20 23i10 56-0 2$0 24{)




scratch/run10102049.12btowW.hist.root, page=7,

Sun Apr 12 07:51:37 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |
3

25

2

15

1

0.5

0

...................

..........................................................................................

Integral

12

A . I
2420 2440 2460 2480

3

25

2

15

1

0.5

0

il
2520

N N
2540 2580 26
BTOW softiD

]
700

Integral

14

i ]
2740 2760 2780 B

3

25

2

15

1

0.5

0

2720

BTOW softiD

.........................................................................

.................................................................................................................................................

Integral

i
7940 960 v

W-BTOW-accepted: acc seed tower ET>5.00 GeV

3

25

2

15

1

0.5

BTOW softiD

.................................................................................................................................................

Integral

13

BTOW softID




scratch/run10102049.12btowW.hist.root, page=8, Sun Apr 12 07:51:37 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |
3

E Integral 12

34
BTOW softiD

3

= s s s s s s ~ |Integral 12

25 el e Tereeneeaeeees e R LR R R R R EECEEECEEEEREEE, PRREREEE
P == | S s O el L S S S S
) e | P e e e e P e e :

;ﬁfﬁ“ﬁ ﬁfﬁfﬁfﬁfﬁfoﬁHfffﬁfnNfoﬁéﬁfffffinfﬁfﬁfﬁfﬁfiﬁfﬁfﬁfﬁfﬁNﬁfﬁﬁéﬁffffff mmﬁ

BTOW softiD

0

W-BTOW-accepted: acc seed tower ET>5.00 GeV

3

Integral 11

25

2

15

.................................................................................................................................................

1

0.5

BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

Integral 13

BTOW softID



scratch/run10102049.12btowW.hist.root, page=9, Sun Apr 12 07:51:37 2009

W-BTOW-accept
3

ed: acc seed tower ET>5.00 GeV |

25

2

15

1

0.5

0

= 5 5 5 5 5 5 5 5 Integral

12

.......................................................................................................................................

A
7180

* 72
BTOW softiD

W-BTOW-accept

ed: acc seed tower ET>5.00 GeV

3

25

2

15

1

0.5

Integral

v

0

BTOW softiD

W-BTOW-accept

3

25

2

15

1

0.5

Integral

7

...........................................................................................................................................

0

7550 7t

BTOW softiD

3

25

2

15

1

0.5

= g s g ; g 5 5 . |Integral

15

Sun Apr 12 07:51-37 2009

BTOW softID

0




scratch/run10102049.12btowW.hist.root, page=5, Sun Apr 12 07:51:37 2009

W Btow-accept: cluster 0 <ET< 10 GeV | Entries 0 | W Btow-accept: cluster 10 <ET< 15 GeV | Entries 160 | W Btow-accept: cluster 15 <ET< 20 GeV | Entries 94
120 120 =120
o o - o
2 s | g
(7] (9} (7]
" 12 - "
o — —
UlOO E—)lOO C P.5 6100
[~ = [~
i t I i
[= f= - [=
S 80 S 80 - S 80
= = r = r
o j=N o o -
o o F o F
3 60 & 60— —1.5 B B0fr e b e -5
n 12 L 2 -
20 s —t L
20 200 5
N STV VU VU VP FOTTL IO O of .
0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40
seed eta bin [-1,+1] seed eta bin [-1,+1] seed eta bin [-1,+1]
W Btow-accept: cluster 20 <ET< 25 GeV | Entries 14 | W Btow-accept: cluster 25 <ET< 30 GeV | Entries 6 | W Btow-accept: cluster 30 <ET< 35 GeV | [Entries 2]
§120 _ 1 §120 _ §120_ : 1
g I 0.9 g I 9 3 F : b g
n - (2] - " -
0100 a100[- 0100 .. Lo
S og O [ 8 O 5 0.8
1 r 1 r 1 r .
c F c F c F :
5 80 0.7 S 80f-- 7 /TR 1) A S S S A PR I 0.7
£ 0.6 < [ 6 < I : 0.6
3 E 2.
60 0.5 3 60[-- 5 0 N A 0.5
" 12 L 12 -
0.4 3 4 - .4
0.3 4o 3 aor o3
0.2 20 '_ 2 20 '_ i 0.2
0.1 r 1 - 0.1
ol oL o
0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40
seed eta bin [-1,+1] seed eta bin [-1,+1] seed eta bin [-1,+1]
W Btow-accept: cluster 35 <ET<40Gev | [Entries O] [ wBtow-accept: cluster 40<ET<45Gev | [Entries 0] [ wBtow-accept: cluster 45 <ET<999Gev |  [Enfries 1]
120 +120 120 1
) s s .
] 8 3 : 0.9
n 12 - " - .
o o - o e S
0100 L)100 I 0100_ . b s
[ [~ [ :
1 1 I 1 I .
c c - - L :
S 80 S 80|-- S 80k . i PR P 0.7
£ ! 5[ : 06
el =l - e -
& 60 & 60|-- 10 Y B 0.5
7] » | 7] |
N N 0.4
40 40+ R s SACE R ELEE -LELITCLEEESEED 3
20 20[ 02
_ : 0.1
P PP TP U TS PN P P P ) PP T I B BT P P P b
0 5 40 5 10 20 35 40 % 5 10 15 20 25 30 35 40

Sun Apr 12 07:51:3%2009

seed eta bin [-1,+1]

seed eta bin [-1,+1]




